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0l. ¥a+ib =x+iyZE & 39 @, Ya—ib=x-iy |
HAAYIA: m = X+1y
a+ib=x> +3ix’y-3xy’ —iy’
- a—ib=x’ —3xy? —3ixty+iy’ =x* - 3ix*y+3x(iy) ~(iy)’
(x—iyf -¥a-ib=(xiy) (Shown)
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02. (2x2+-P—3] a7 Frgfore x° @ae x ' @ 7= I ZeeT P -4 g W e 39 |

a=x>—3xy?qR b=3x’y—y’ [QIET ¢ FHNF WL IS T

X

10 f
gt 4f, (2;;2 +£;-J a7 Rt (r + 1th=m = C (2x%)"™ (33-]

X X
:lﬂcr-zlﬂ‘—r.Pr qu_zr,x_k :'lﬂcrizlﬂ—r-Prxiﬂ—ir ' 20_51_:5’ r =3
x* g x" @7 st s e, 0C, .27 P = 1°C, 2° P Wi, 20-5r=15, r=1
10. p’ 10.4 : 1
S 1=-F 24 P 4 L p 3200 po L (Am)
3 10-3 |1 [10-1 ~6x|7 |9 9%x8 3 V3
03. qu¥ g STHEE TReas fefr o9, a1 7x + 13y — 87 = 0 &R 5x — 8y + 7= 0 w=ieeya &7 7 weg I
TR TR O AN T (71 T |
Syt 7x + 13y —87 =0 cooe...... (i) ;5 —8y+7=0......... (ii)
TGO A AP =L = !
01-696 —435-49 -—-56-65
-605 —484
=X= =5, y=——=4 .. 53 @199 (5,4
—-121 7 —-121 (5:4)
Hﬁﬁt@ﬁﬂlﬁ%+%:1ﬁm,a=ib .:Ei-if=1:> Xty=awmRy 4ft (5,4) 51

o el @fba sfisd x+y =98 x—y=1 (Ans.)

04. T TAET THEH G TFAH ARG SIFS | 3X + 2y — 9 = 05wt Sorgafbee wrwawea Tom &
T | Togatd AR T 37 @3 TR S e ffa e
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ARIYH: SorgaDT ST TR, %+§—2=1 .......... (i)

_ X :
e I 3x 2y -9=0= : +9?:2=] -, Goga c'iﬁﬁ“iiﬁ-(?,,o){o E]

R ofS 7 () G R o, = =1 = a =3 S0 _1=p2

a 4%b 2

2 2
-, ARl =L, %+8¥I4 =1 = 9x* +4y* =81 (Ans.)
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05. JA9YE T 8 cusx+«f§5inx=ﬁ

. T . | T T
HHIYA: CDSI+\/§SIH.¥=J§ — cusx.cﬂsg-i—sm x.51n—3-=cns% = cns(x—;)=cusz

y (A | m T T
_ = Al s x=2nm+— aR=>x=2nw——+—=201+_—
:x—%—Enni% = X 2n:rri4+ 3 R Seh 12 4 3 12
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06. ¥)* sinx (F VRFARET 4T AR RS 99 |

sty fv £ (x)=sinx .. £(0)=0 a3, f'(x)=cosx .. f'(0)=1

f'(x) =-sinx .. f"(0)=0 f''(x) = -cosx = sin[3,g+xJ s P(0)=-1

(%) = sin(% - :-:.)

2 3
WIFARCE 440, £(x) = £(0) + x£'(0) + %f"({}) + l;-f""(o) Bpesen
TIFaiaea Q9 TR0, sinx=x—-};:+?j— .......... e} (AIIS.)
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O TR fagree s vy T© 2
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dx

07. ) AT A8 _[

]—sinx

sinx +Ccos2Xx

sinx+1-2sin’x

dx
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<) T fefy F=s T

0

dx =
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73-.2);.«/5 =]12= x=8cm

dx

sinX + CoOsSX

~2sin? x+2sinx —sinx +1 dx

AIYH: F) _[

l—sinx

l—sinx ] -sinx

=-2cosx—X+c (Ans.)
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FITS AP TGN a G X I (NG (T, OIF FITHH S Bf~f W[HE] A |

X
_ aw
WAIYI: A 9 @ Ao, w.a=Px .. P=— ]f
X Ty
S FME TR B I =P +w (ﬁﬁﬂ)& a g x 0
=V i w= w(i+ 1) = w(] +E) (Proved) w
X X X
09. O3 TN TN FT BT 65° @It fFaras 200m/sec @VaE =wfeg W @ fass a0
R 200sin65 0 200 | b
iyt O =tan™ =32.5" (Ans. |
(200+ 200(:0565) ( ) /
R =+/200% + 200 +2x 200x 200c0s 65 i 200
=337.356ms™’ 6 =32°30'

10. @30 w3 ofbd Y aIFSE ©F (04 Il T (F, G0 Oe A AP TR G [Ruete TRAT W

TSR s 20 ¢ | T@T G Meweet 4 @9 TN o ST 9ot A wt Roafie =i P(A) Fefa s

I TSNS 7 SHEG 7|/ 2

FAYA: TS S @ @I ALY S TSt =E*Wmmm@ R ST S ]

Q37 4 QI OIS 1, 2 8 3

WWWIWW=%K%=%W=WMWWxWWWW]
+
ST 3 SIS ST = Sy = &
3 251 O
fog 2 (SIS RN S ST =%x221=§ [oregzeet]
+

-, 2@ G3F Ot 4 9T I Ty SE SRSl
=1 ([CEC WEE) Tl + 3 ([QUHC HHG) FEEol + 2 (CETIEW)W

1,1,2 _4 e
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11. 40kg @32 60kg St 9fo 3G *=i7 [Adre Mie I 8m/sece 2ms™ R0 TS 02 T ST 4l
e | <1919 219 I8 v 9T I@ (AT FO (@O0 BAE?
AN Q< m, = 40kg, m, = 60kg, u; = 8ms™, uy = -2ms™, v=72
s > 9® (@ Mt BEIlRE Gifvee |
=T @i, myuy + mpuy =(my+my)v = 40%8 + 60 (-2) =(40+60)v = v = 2ms’! (Ans.)
12. @6 b/ ©F 8kg W3k BeFIfSd UPIE 25cm | G WS INF F67 BIHGLE 3rad/sec? wadt % e FO
W 5F AT TS ZA?
Tty QATT, M=8kg, K =25c¢cm = 0.25m, o. = 3rad/s’>, 1 =9 t =2
I=MK?* =28 x(0.25)° = 0.5 kg m* (Ans.) t=Io.=0.5x3 =1.5Nm (Ans.)
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13. @ Rrreq Noma WSl 200W | T STST edT S 270K, wdr AifkEE S 300K X6 IR
100min 9 $TST 2TI (AT FHE® T #AfTe Sfef =Me I 1 [ = 10%)]

Sryt: @A, Ty= 300K, Tp = 270K
P

out

T-T. 300-270 Q. : P
w2143 =0.1:P =it =5Q. =P_xt..... 1) But,n=—"* =P =
L 300 L n ® "7, n

From (1), Q, =h—xt = ?}—-{?xmﬂxﬁﬂ:l.leOTJ

“I=Qi"(;Q““I =Q.. =Q. —nQ, =12x10"-0.1x1.2x10" =1.08x10'J Ans.
14. @3 TS (e RT o o7 T (F 90 5F AT (TSI AT | FF 0 T AN w9 157 ST
*JR<T ©7 81 & T a2 [EIE 4 e @&

sre: Given, M, =81IM,, R, =4R_

GM o GM“‘ 'gm_GmeR:E _me_.Eiz
RE Iom RI g= G R y GME - ME

m

R,) 81 T. Vgn
15. & et 0.7m @<k 0.71 m o5 ey 73/6 *% oa7 2f Gt 710 0 S0y 6 | e s & F97?
g @, A =0.70m, A, =0.71m

LA A SR 1 . 1 — 7oy 0.71-0.7 s V=7x0.49?
0.7 0.71 0.7x0.71 0.01

m

2
g M. x(mm] 16 T (8 _g/4 ::.Tm=%x2=4_55ec (Ans.)

b=h=3""3
1 2

—v=3479 ms™ ..v=3479ms"’ (Ans.)
16. @t ga[ieT 20 © sreg drspenee 3 0 93 25watt #0M=0 Wit | St wibe 6 =0 11 Of *F@ e | 2%
gl 1000 ﬁﬂﬁﬂﬁﬁﬁ%ﬁ*mmzﬂﬁrwywwmwﬁ 30 ==t 496 =W, o] 30 M

e F© A6 2[?

25x3x5x%x30x20 —225kw ; W, = ]000x2x30=
1000 1000

W =W+ W;,=285%kw .. B=285x0.3=85.5Tk. (Ans.)
17.% 0.49kg <ifm (Stemmar 293k ) sm 373K wrmas 0.01kg I firiicet fidjeein stoiat o @2 (IT¥w

60 kw

W: WI=

TireqE e ot = 2.26 x 10°Tkg' |
syt Let, The final temp. 6°C .. Heat absorbed = heat released

=0.49x4200x[0—(293—273)] = 0.01x 2.26x10° +0.01x 4200(100— 6)
—20580—41160=2.26x10" +4200—420 = (2058+42)0 =26800+ 41160

=0 _ 67960 _ 33.36°C  (Ans.)
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18. Y 72 sroviy W WE ~PB WL o @9 50cm | TR T S & TS (77 YIRIT 90 (7
SYE: 92, v = —0.50m,u = 0.25m
1 1 1 1
%=%+Ilf:’ £~ 0507025 05 O
]
0.5m
19. @36 p-n EHT [Fo9@a 2.0 volt TIF I 2.2 volt Fa1 = | Gre a7 OfeR &qR 400mA T @S

800mA == | sifed @iy o7
s Al= (800 — 400)mA =400 x10°A

. P=

=2D (Ans.)

AV=22-2)V=02V ~rR=2Y__ 92 _gs0
Al  400x1073

20. ¥*m; = 0.5kg 932 m;, = 1.0kg 720 <1 38 @i <fFrs Fof (S7 477) wiar I =R | IF FoT 99 8 o
AT O ([T I9 |

FAAYA: @A, m, = 0.5kg, m; = 1.0kg, g =9.8ms™

m, —m, 1-0.5

I = Xg=

m, +m, 1+0.5

x9.8=327ms™ (Ans.)

2Zmm,g 2x1x0.5x9.8
m, +m, 0.5+1

21. e @ SRS SuEe o g

T=

= 6.53N (Ans.)

(a) | (b) ST () “TA-Z2GIH ST @[

(d) 2-@Itar 4-RITTe (€) ‘ﬁrﬁﬂrm () eai5E =7

CH3-CH-CHz3 O- C‘CH3
COOH

W:(a)@ (b)@/ ©){O)-N=N—<O) OH

OH
Cl
(d) (e) dry CO, (H) (CO+H,)

NO2

22. T R s 99 w3
(a) C,H,COOH +NaOH —20_,

e
(b) Cu+2H,S0,(conc) — CuSO, +.......... .. +2H.,0
Al
(c) CH, +........ c, C,H,CHO + HCI
Cu,Cl,
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23.

24.

25.

26.*

27.

N | |

(d) CO, +2NH, —2C€ 5 ... +H,0

=

ZnCl,

(e) C¢H; —OH + NH, 300°C " H,O
(f) NaOH(aq) + Cl, 70°C NaCl +.......... +H,0
THIYE: (a) @ (b) SO, (c) HCOCl

| NH;

(d) NH>-CO-NH, (e) @ (f) NaClO;
e ClierTIEs @ieTestEe 2R <-uRT (s 3

(a) CI(17) (b)Fe (26) (c)Cr(24) (d)Zn(30) (e)Kr(36) (f) Ag(47)

Tr: (a) C1(17) — 1s°2s%2p° 3s°3p°

(b) Fe (26) —1s” 2s? 2p° 3s* 3p'5 3d%s? (c) Cr (24) —1s%25° Zpﬁ 3s% 3p° 3d°4s’

(d) Zn(30) — 152252 2p%3s? 3p° 3d'%s? (e) Kr (36) — 15?25 6p° 352 3p°® 3d'“4s”4p°

() Ag(47) —1s° 25 2p® 3s? 3p® 3d'%4s%4p®4d"5s’

gl Baeet @ Bicst famge I 2T @i 5 R 1000cm® H, i fofe = @32 T @ A e &

AT O, 5T CRICIETE |
I, I,
AT I'H = 10{!0 = 200cc/ min 3 ruz — EP-L — E = E‘L-_-q' 3 I'U = o =200 =50 GGJ’II‘liﬂ
* Smin o, \ My, V2 ", 4 4

S Vg, =T, Xt =50x5=250cm (Ans.)

Y TS FHIE CIerTRd o7 qREFATCEIFaE

(@)Mn(25) ()IG3)  (©Rb(B7) (dCA@48) (c)Rn(86) () Pt(78)

satyt: (a) 89 o, VIIB &= (b) @7 4w, VIIA & (c) ¢¥ *fiw, TA aFef

(d) &= =4, 1IB 2+ (c) Ub =rfiw, Yyt (f) b o, VIII &bt

I aofE ffEe sremmE «iffg a4 o x Pa 70 st 18g #iifice 0.1 mol ol pree AR @ JacE

B F© A9 9 |
syt P, =xPa, n, =18gm = Imole, n, =0.1mole, P=?

P_01_,, 01 P _ P=Pu[1-%ﬂ :;,P:%wa (Ans.)

P,—-P n
know, =2 —_ 2 = ]-—= : -
e P, n,+n, P, 1.1 1.1 P,

(2) D FEFERFIRA RIGTT @ i Feleewza Ritme Mo <9 ¢

Br*,NO',Cl",CH},R ~O-H,AlCl,
st (a) Br'— ETGIE, NO, — Sr=a@eiza, Cl— FefmewaT,

CH,*—s Zerareier, AlC]; —> ez, R —O- H Refrewz |

(b) (i) -57.3kIJmole” (i) 5 (iii) 6
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28. pH & 3ff @I [OH]= 3.4 x10” Z¥, w1 5167 pH F97
styi: pH 20z @t et [HY] wemais (—log) @@ i | pH =—log[H"]
pOH = -log (3.4 x 10°) =4.46852 . pH =14-4.46852=9.53148 (Ans)
29. e G TR @I 49 TS T T 8
(a) n-KEwGT (b) T (c) 1,2 izt 3R (d) arere  (e) Rebw-1 (f) TR-2IRT 2|
STatgt: ((a) 6% TS (b) IR LS () SO TR

(d) ST STl (€) S=Z AT (f) BT <7, aﬂ'ﬂ’ﬂiﬁl‘ﬂﬁ?ﬁ Aot
30. H,S04 97 Teifgfsrs 0.6gm Siew H,O; &394 0.632gm KMnO4 4 AT H‘”’fﬁh‘f’i‘ @ 91 Hy,0, a3
oast g < |
st 2KMnO, +H,SO, +5H,0, —K,S0, +2MnSO,, +H,0
2x158 5x34
2x158gm KMnO, = 5x34 gm H,0,
5x34 5x34x0.632

A | KMnO, = H.,O S 0.632 KMnO, = =(0.34

em 4 = x158 O T2 o ‘=T X158 e
. ool =063::-:100% = 56.67% (Ans.)

31. Translate into English :
(a) AR e FEE carger 9of Tt «meE |

Ans. The declaration of prohibiting the use of polythene is a timely step.
(b) ST qIvle &y AR, 4”& 9o Ans. We don’t live to eat rather we eat to live.

(c) (TP TET o TZRed, 1R 77 {357 Ans. Patriotism is a noble virtue, isn’t it?
(d) GTSres I I, IS I A1 | Ans. He will neither eat rice nor go to college.
(€) TS *IRF (¥ IL (OTF I+ | Ans. The London city is large as well as beautiful.

32. Make sentences with following phrases & idioms-
1) Apple of discord : The land is the apple of discord among the brothers.
11) Lame excuse : The lame excuse of ignorance will not be accepted by Allah in the here after.
ii1) Condole with : Rahim condoles with the distressed guy.
iv) Beyond all doubts : The honesty of the teacher is beyond all doubts.
v) First and foremost : Learning the holy Quran is the first and foremost in Islam.
33. Change the Narration:

1) He said, “I sang a song.” Ans. He said that he had sung a song.

11) I said to him, “Please read the book™ Ans. I requested him to read the book.

111) He said to me, "Can you do the sum?" Ans. He asked me if I could do the sum.

1v) Matin said to me, “May God bless you.”  Ans. Matin prayed that God might bless me.

v) Akter said, “Alas! I am undone.” Ans. Akter exclaimed with sorrow that he was undone.

34. Wnite a paragraph on any one of the following:
(i) Teacher-Student Relationship

(ii) Safe environment. Ans. Try yourself.
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